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QUESTION 1

In a network design using the traditional tiered structure, which two tiers connect to untrusted domains? (Choose two.)
A. access

B. WAN edge

C. core

D. aggregation

Correct Answer: BD

QUESTION 2

When implementing a top-down design methodology, where would you begin collecting information to start the design
process?

A. the CEO of the corporation

B. the Application Layer of the OSI model
C. the currently-owned network equipment
D. the WAN edge

Correct Answer: B

QUESTION 3

You are evaluating an existing network to determine requirements for a network upgrade. In this scenario, which
statement is true?

A. A network baseline identifies devices that do not have redundant components.
B. A network baseline identifies traffic growth patterns across network devices.
C. A network baseline identifies how many users are connected to the network.
D. A network baseline identifies the type and level of traffic load on the network.

Correct Answer: D

QUESTION 4
What is the first step of business continuity planning?

A. know your network
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B. test the plan
C. assess the risk
D. formulate the plan

Correct Answer: A

QUESTION 5

Click the Exhibit button.

Referring to the exhibit, you are designing a Layer 2 data center and you want to make sure that all the

links between the access tier and the aggregation tier are used.
What should you do to accomplish this task?

A. Use VRRP on Agg-1 and Agg-2.

B. Place Agg-1 and Agg-2 in a Virtual Chassis.

C. Use RSTP on all devices.

D. Use BGP load balancing on all devices.

Correct Answer: B
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